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N7 DWASM MTY R X237 799 AN — K29 said to him; ‘but it is a
discredited testimony’!

Overview

Testimony of witnesses can be disqualified in the following two ways:

A. 7wnaon — a contradictory testimony. If two groups of 2*7v contradict each
other as to the veracity of an incident; where one group claims that it took
place and the other denies that it took place, neither testimony is accepted,
and their testimony is disqualified.

The X3 will shortly cite a dispute between X117 27 and X707 27 whether
these two groups of 27V may testify in the future, or that they are
disqualified to testify in future cases as well for they are considered
(possible) liars (Po0n).

B. 717 — a refuted testimony. If the second group of 2°7¥ testifies that the
first group of 2>7v could not have possibly seen the incident at the purported
time and place (regardless of whether the incident took place or not); for at
that same time the first group of 2°7v where in fact together with the second
group at a different location. In this case of nnti, the second group is
believed and the first group is refuted, and become disqualified to be 2>7¥ in
the future as well.

There is a dispute between X271 ™R as to when this disqualification becomes
effective. "aX maintains that that the refuted () 7Y, become
disqualified retroactively from the time of their testimony. Any testimony
given by the »m1r 07y from their initial testimony (for which they were
subsequently refuted) and onward, is voided. ¥27, however maintains that
they become 7109 only from the time of their refutation by the o man o773,
and onward'. Any testimony given prior to their 717 is valid.

The case at hand: j237 and Wwnw were disputing the ownership of a
property, each one claiming that he inherited it from his parents. j2187 had
0>7v that it once belonged to his father and in addition that j23%7 made a 7P
in this property. 7Wwnw only had 2>7v that he made a 7P (contradicting
the 0°7v of 12187 who claimed that 72187 made the 72177). 711 27 ruled that the
two contradictory 12°2X m7T¥ cancel out, leaving J23X1 with ownership on

! There are two explanations in the (p"2) X3 why X271 maintains his (questionable) position (for seemingly
since these 0*7¥ certainly lied at the time of their testimony, they should become 2051 from that time
onward). One is that since the entire idea of 0n17 7 is a (¥17°11) novel concept (for why should we believe
the second group more than the first group); therefore we limit the w17°n as much as possible X2X 12 72 PR)
W17°1), and the power of the o ™ 2>7v to disqualify the 1117 2>7v is limited to the moment of 7117 and
onward. The second explanation is that if we were to 205 them ¥191?, then there would be losses (X7°09
mmpPo») to all those who used these 0>7v (in between the M7y and nn17), for their documents of loans and
purchases would be voided. See later footnote # 12.
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account of his XniaR »7y. X237 disagreed and argued that these 07y of 121X7
were already disqualified and are completely discredited. msoin will be
discussing s'X27 view.

mooIn has a difficulty:

SRYT ORBR 130 — It is incomprehensible! Why is the testimony concerning
parental ownership (Xn72ax% M7Y) considered as —

nwnos MY — a contradicted testimony? We can perhaps salvage the part of the
testimony where no contradictory testimony was provided; the Xn7aR n17y. NOOIN goes on
to explain:

(%27 2 mnma 1307 ow 3,39 N7 ®ep x33) $721R2 O9 MR X239 X7 — For 829 maintains in
77219 PO -

(%29 ®mnns M207 2w R, 07 Pavme) 12 7T PR — and in "2 7D —

DODI K17 N279Y IN2% 2w 7v7 — that a refuted witness becomes disqualified
from the time of refutation and onwards, but he is not 2109 retroactively from
the time of his testimony. The testimony that the ¥ gave prior to the actual mn7
(concerning other issues [not related to the mn17]) is valid testimony. It would seem
logical that this ruling concerning am7 7y, that 5091 X7 X279 18, should apply to *7v
mwnon as well”. The disqualification of their testimony is not retroactive from the time of
their testimony, but rather from the time they were actually contradicted and onwards’.
mooIn concludes the question:

272 % 19 n°XY — and we should therefore assume that —

7n?I5RX— concerning their testimony regarding consumption (7p117) —
wonRT- where they were contradicted by the other group of 27y who claimed
that the other party made the 7p1m,

wnanR - they are indeed discredited and cannot be believed; that testimony is
disqualified. However —

NN7ARR — concerning their testimony regarding parental ownership —

wonR 897 — where they were not contradicted; the other 0>7v said nothing
concerning parental ownership of the property —

wonR X° — they are not contradicted; and that testimony should not be
disqualified. We should accept their testimony that it belonged to his parents.

If we would maintain, that Y091 X177 ¥791nY, then their testimony would retroactively be
invalid from the moment they stated it. At the time of their testimony they stated Xnmax
and 7n?°O8 together; it was one testimony. Therefore, since part of their testimony is
obviously disqualified (at the time of their testimony), for it was contradicted; then
anything else that they testified at that time (7127 75 Tn) is included in this
disqualification. [There is a rule; a testimony that is partially nullified becomes
completely nullified.]

* In fact one may argue that the %109 of 7wn>: is weaker than the 2109 of mnr. If by mnii the 2109 is only
X27191 1890, then certainly by 7wnon the disqualification of their M7y should only be 827791 1837,

3 By mar the terms X279) 1897 or 083 K17 ¥191° is referring to the 9109 of the v himself. By awnan,
however (according to X177 27), these terms refer to the disqualification of the N17¥, not to the o°7y at all.
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If we maintain, however, 2091 X177 X277 1807, it would mean that after 7"°2 heard all
aspects of the case and found the 0°7¥ to be contradictory, their testimony becomes void
from that moment on, only.4 At the time of their testimony, however, it should be
considered a valid testimony". It is just that we cannot subsequently act on (part of) their
testimony since it is contradicted by the other %277y and must be disqualified. However
this should apply only to the testimony that is subsequently being contradicted. Any other
testimony that they previously testified remains valid, since it was not contradicted.’

moon will now prove that we can separate the two aspects of their testimony; the M7y
Xnmak and 7098 M7Y. We can accept one even when we discard the other.

(2w R,3v 17 X»p x32) 72122 AR 99717 — For this is what the X713 states in P17

=19 concerning 0°7Y who testified that an individual stole and slaughtered an animal,
which would require the thief to pay four/five times the amount that he stole "7 *m5wn)
'm) -

ameaws By mnnT — that if these 07y were refuted (2117) concerning the
slaughtering, however —

T KD 712°357 DY — they were not 21977 concerning the theft. That testimony
was not refuted by the o1 o7y,

YO 2T 97D TINT 23 YY R — even though the on1na 007y testified
consecutively 823257 72 737, both -

7reawT Y 7297 Y — on the robbery and the slaughtering; both testimonies
were offered consecutively without interruption. This would seemingly make it into one
testimony. Nevertheless the X773 there maintains that —

RNYW RO777 1195 X279 — according to 829, since it is from that time-
TNk RPT — that the were 27%7; it is only from then -

5051 RpPT K17 — that they become 195, and not from any time before, therefore —
21TNORT 73U — concerning the slaughtering which they were 271 —
1R — they were indeed 27125 however —

2N K97 729137 YY — concerning the robbery for which they were not
arnmn -

* It would therefore make no difference which group of o>7v testified first, or the order of their individual
testimony, whether they said &nmax first or 7n?°x first. In all instances they become an nwna M7y only
after all the testimony is presented, accepted and ruled upon by 7"2.

> This should be true even according to X7or 21 who maintains that these 27y become 109 for future M7y.
It is only after the mwnon that they become 0°2109 0>79 but not at the time of their N7y N7 (see MooIN
second question further on, and footnote # 14).

% According to X70m 21 this will cause them to be disqualified as *7y in the future as well (on account that
they are 7pw >7v Po0). However neither they nor their testimony are disqualified retroactively.

" If we maintain X271 189n then at the time of the testimony there was no contradictory testimony, they
were D3 0°7Y; therefore there is no ruling of 7913 7702 IN¥PR 7702w MTY. See 131 LA NIX 7"10.

% 212°7 *12 710 — means the time that it takes to say the words »21 79y D1>w". If the interruption between
statements was less than that time, it is considered 712°7 72 7n; as one statement.
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aunR X2 — they are not considered m) 2%7¥ regarding the robbery’. This
concludes the quote from the X723, We may derive from that X33, that it is possible to
separate the two aspects of their testimony even though they were offered
simultaneously. The M7y of 72°1) remains a valid M7y even though it was said together
with 712w M7y, which was subsequently ami. The same should hold true here. The m7v
of Xnmak should remain valid, even though it was said together with the nn%ax m7y
which was subsequently wnoi. Why then does X271, who maintains 2091 X177 X279) 1RIn,
argue on 7271 27 and claim that it is an nWR2M M7V.

mooin offers a qualified explanation:

['ans7] 8297 8=y M7 RSS9 — And according to the opinion [there]
that the reason that X29 maintains 2001 X377 X271 100 Q@7 7Y, is —

[''8377] wy7om @mr 797 2wn — because the law of amr 7v is a novelty'
W17on nywn 85K [12"°] 79 781 — and you cannot implement this w170, only

from the time when this @751 takes place and onwards; i.e. from the time of the
1. According to this opinion —

N1 — it is understood. There is no question. Mo0IN initially assumed that since by
7T it is D051 R R XN, therefore by Iwnon it is also X721 1X8on; therefore we had the
question. However we can say that only by 7117 is it 091 X7 82791 18O, as the reason
indicates since it is a v 7°n. However by nwnai where there is no v 7n — we do not
believe any group of 0°7¥ more than the other; in fact we believe neither group, then we
follow the logical conclusion that the N7 is ¥1917 H03; at the time of the testimony. It is
at that point when they (may) have lied. If the testimony is ¥19n% %03, then it is
understood that we cannot believe the Xniax M7y either, since it is part of a disqualified
testimony.

N277 Napw wannT X 898 — however according to the opinion that

explains the reason 829 maintains 2091 X177 X279 JXO» O™ 7Y is not because VTN
X7, but rather —

MmpYT X705 2w» — on account of the purchasers’ loss. If we were to
disqualify them retroactively, then all those buyers who used these a°7v on their rip» 0w
(with no way of knowing that these 07V will subsequently be disqualified retroactively),
will suffer irreparable loss. Their m1vw will be voided. Therefore the law instituted that
they become 9105 only X279 1851, According to this opinion there is no difference
between nwndn and nnma, if we protect the consumer in the case of [t the same
protection is required in the case of 7wn>:. Therefore—

173517571 911 K27 — here too by 7wnon, we should believe the 237y since it is
5091 X177 K279 1RO,

? They are not obligated to pay the 01p of ant 9wX> concerning the 72°33 only for the ;77°2v. The 233 has to
pay the 993 "m>wn based on their testimony.

' See n"an M.

' See previous 1"27 M.

2 See footnote # 1.

" See 3 X "7 M.
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mooIn anticipates a possible answer and rejects it. Seemingly one may argue that we
maintain 091 X7 82771 1¥0n when we entertain a mmp»7 X7°09. However in our case,
when both groups of 0°7v came to 72 together; even if we would rule that X7 1917
5091, there will be no MMP7 X7°00. These 0*7v did not sign on any documents between
their 71737 and 7wnon. Therefore since there is no realistic MMP?7 X7°09, even X271 admits
that 001 X177 y791%. MO0IN rejects this idea:

MIMPYT X700 K297 X297 190K — and even in a case where there is no loss

to the consumers; as in our case, where they did not sign on any 0w between the
1177 and the 7wnon, nevertheless —

paonb oo X9 — they are not disqualified retroactively —
NI X770 9958 — even according to that opinion; which maintains that the

reason 091 K177 K271 1RO M 7Y is (only) because of mMmp?7 X7°00. An TV is always 7091
only X27791 1891, even if there is no specific MMpP27 R7°09 in that instance.

mooin will now prove that (even) according to the W9 that H091 X7 X271 1XIN, is on
account of mMmp>7 X7°00, nevertheless they will always maintain that 091 K17 8279 1891
even if there is no MMPY7 X709 in a specific case.

an:? swaTtn — since the X713 queries there; in 721 o -

NIOH R RIW R P2 XX XM — what difference is there between this
opinion (X177 v17°11) and the other opinion (Mmp57 R7°0D) —

I R2ORT MRP K9 — and the X3 does not state that there is a
difference between them —

MMPY7 X700 ROWT X277 — in a case where there is no MmMpP»T X7°05. The
X3 could have answered that in a case where there is no mmpP>7 X700 there is a
difference between the two mnw>. If we maintain the reason is because 01T 7V is a WI7°n
then it makes no difference whether or not there is a MmpY2 X709, in all cases it is X7
2091 X177 X277 However if we maintain that the reason is because MmpP%7 X7°09, then only
when there is a X7°05 do we say 721 X7 82791 1801, but when there is no X7°09, we should
maintain that 5091 X7 y19nY. The X3 however does not make this distinction. That
proves that the X3 maintains that in all instances whether or not there is a mmp>7 X709
we maintain that 7091 X377 X27391 1R97.

In summation: the question remains; according to the 1w that X271 maintains X2» 2n17 7Y
D091 KT XA because of MmMp?7 X7°09; the same rule should apply to 2wnowm o7y that
the testimony becomes X272 X5n 2va. Therefore only the contradicted testimony (>7¥
7211) should be disqualified but the uncontested testimony (XN72X >7¥) should remain.
Why does X217 claim that it is an nwn2m M7v?!

mooIn has an additional question:
Now» 79 — and there is another difficulty —
7103 nRPT — for the X713 will shortly state that -

N70M 297 N2WN — according to XT®1 29 who maintains that both groups of o7y
that were wn2m cannot testify in the future (for they are [suspected] liars) —
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39D R X2 RY1D — no one argues; both jam1 27 and X217 will agree that it is an
nwnom M7y and we cannot accept (even) the testimony of XnmaX. The simple
understanding is that since X701 27 disqualifies both 0°7¥ (as opposed to X117 27 who only
disqualifies their testimony in this case where they are 0°wn>m 0°7Y); therefore we cannot
accept the testimony of XnaR M7y since they are 0°9100 0>7v.

TAm1 297 yawn — it seems from the X2 that 2''1 -

R7OM 290 1IY 2wa 720 '2» XY — can in no way maintain like X7or7 27 -
PR 2770 79 2vwnT — for he considers them false 2°7¥. It seems from the X3
that 72m1 27 and X701 27 are mutually exclusive. If we accept the ruling of n"9 that the
0’7y are 2109, we cannot accept the ruling of 1", that they are believed concerning the
XN7ax. MooIn challenges this assumption:

7% X1 — and how does the X713 derive this; that 1an1 27 disagrees with 7" —

T2173 29 720 X»9°7 — perhaps 1" maintains that -

bop1 N7 X279 I%=» — he becomes disqualified (according to x7om 27)

only from now and onwards; however y1on5 they are w3. Therefore we can
believe their previous testimony of 72°9% M7y which was not contested.'*

mooIn offers an answer on the second question:

2% %% RDIR K7 37191 — however we can say this, to explain why the X7»3 asserts
that 1"7 and 1" disagree; we cannot reconcile them by assuming that 1"7 maintains Xon
2091 K177 R2TN —

R772 X372 79 X%p K97 29w — because we do not follow the ruling of 821 in

this case of Y091 X177 82791 1x2n. Rather we follow the opinion of »ax that ' X1 y79m9
Soo1. It is assumed that 1" also maintains 2091 X7 ¥79n5.

The first question, however, remains. We are discussing the opinion of X327, and it is X237
who maintains 2091 X177 827791 1891, why therefore does he argue that it is an nwnam M7Y?!

madIn answers:

N2777 N°207 X9 — and it appears that we are forced to say that this X310
follows the view —

w77 RIwY X970 — of that opinion that the reason X217 maintains X2n

051 KIT RAT is because amT 7Y is a WITIM. 1t is therefore understood, as Moo
mentioned previously, that this applies only to o »n11 0°7v, which are a w17°n. However by
nwnon 7y where there is no w17°m; in the fact that we follow neither group, then the ruling

" This second question (even though it seems similar to the original question) adds an additional
dimension. According to the first question NMo0Wn argued that if 091 X177 827771 1801 then we should believe
the Xnmar N7y (at least) according to X177 27 who maintains 121 77°V1 AnXY 2192 782 1. There is no 9109 in
the o>7y; it is just that we cannot follow the testimony of either group since they are 1"&7 o°w°non. However
concerning XN72R M7Y in which there was no 7wndi we can follow their testimony. N19010 is now adding
that even if they become 0°2105 07y on account of the wnam, nevertheless if we maintain X7 X2771 1891
Soo3, that 7109 is effective in future cases, not in their past testimony. Therefore the Xnar N7y, which was
not wn2m and was offered before they became 0°7105 073, should be accepted (see footnote # 5).

15 This is represented by the letter 'v' (2091 X377 ¥11917 07 7Y) in the ruling that '0"ap 5"y"a »ar> k371
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will be that the testimony is disqualified ¥7951%, and since the two testimonies of 19°OX
Xn7axy were said simultaneously (727 »72 7n), they are both disqualified. This is what
X217 meant when he said X°7 nwnow MY XM since it is Y1927 WM.

A question still remains; how will the "% of MmMpP57T X7°05 explain our X3 where X2
argues X7 Dwnom My XM? MDOIN continues:

MMpoT RT05T RIwH® 9ark — however that opinion, that the reason Xan
maintains 7091 X7 27771 IX27 is on account of MMPT X700 —

277 ARIYM AN 29 X270 %R X97 720 — will maintain that X239 never said
such a thing to 1"'9 that it is an nwn>m M7Y. Since X271 maintains that we always say

(both by mmar and 7wnon) that the 9100 is X271 189n, therefore the Xnax N7y which was
not wr>m will be accepted, as 1" ruled.

moon will now offer a different solution to his question. M0 originally assumed that
we can divide the testimony of the 0°7¥ into two parts; 81728 M7Y and 79°98 NM7v. We will
maintain that even though 7%°9% M7y was contradicted, but since Rnmax M7y was not
contradicted, it should be accepted. nmvon supported this view from the X3 in 72177
concerning 2’7 who were amM» on their testimony of 71°2v but not on the testimony of
72°1%. The X3 there maintains that if we assume that 091 X377 82791 X2 227 79, then
QIR OTMRT APALR but QTR R? QTR K97 722K, and we accept their testimony
concerning 72°1. Md0IN until now considered the two case identical. The X"2 will
distinguish between the case of nn>av1 72°13 and the case of 727981 RNX.

%71 '®9wK 12 prxs 93791 — and the 8"2%1 is of the opinion —

R2777 777 9»7 K97 — that the case here concerning XnaxY 79°0X is not similar
72197 X479 — to that case in 712197 P19, concerning 7r°aw) 72733 —

77291 995% San mawy 720 ann — for there stealing and slaughtering are
two separate issues. One can be liable for 72°1 even if he is not liable for 7m0 —
2UNR KD UMK K97 720K o9 — and therefore concerning their
testimony of 572°13 for which there was no 22177, they are not 2mmn. We believe
them that he stole. The liability for stealing exists regardless whether he was mam

afterwards or not. The two 2’21 do not depend on each other, therefore we can separate
them —

boD1 RW7 RATWT 190 — since X2 maintains that an 2RI 7Y is Ram® YoDI. At the
time of their testimony they were 2 w> 0>7v. They testified that someone stole. That
testimony on its own makes the 213 liable to pay.

NXor7 R98 — however here it is different, since the testimony concerning Xn7ax is
dependant on the M7y of 77°2R as NHOIN continues to expound.

T992RN won K 92 — when they were discredited concerning the 71 the
other 0*7¥ claimed that the other party made the 7pmm —

NN7ARR on1 wsnsR —they are also discredited concerning the parental
testimony; we cannot accept their testimony that it belonged to his parents, even

10 397ya X" i 09T ow Y.
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though no one is contradicting them. The reason is because the two testimonies of XNmax
72°2R) are intertwined —

172 K9 YR K92 KnmanT — for testifying merely that it belonged to his

parents without testifying concerning the 71211, is not sufficient to grant him
the property, even if it indeed belonged once to his parents. If we were to verify that it
belonged to the parents of one of the litigants (72187) but the other litigant (17v»w) has 07y
that he made a np1m, the ruling would be —

715792 3399 1777 - we would have placed it in the possession of the one —

TP 1R T9ORYT 770 ;719 nIRT — who has witnesses that he made a 211, The
reason why 112w who has 7Pt 7¥ would retain it even though he has no 2>7v to support
his claim that he inherited from his father, is because —

AN 2 MR P 07 b 32817 — he is believed to claim that it belonged
to my father for one day"’, since he has -
AN Y3 ORT B2 — a W, for he could have said instead —

nnar 9o» — I bought it from you (72187). The wn establishes that his father
owned it at some point (after s'121%7 parents). W will retain the property for he has 7pm
Y0 Ry vUw.

The M7y of Xnf2aX alone cannot grant the property to J121X7 (as just explained). In fact if
the 07V testify only that it belonged to s'121X7 parents, the property will be awarded to
1vnw. The only strength of these o°7v is if the claim of Xn72X is combined with the M7y of
77758, This M7v must be viewed as one whole M7y, not as two separate M"7Y. Therefore
since the M7y of 7928 was wnow, it is a nwnd7 of the entire M7Y including the M7y of
XN72R. It is not similar to 7m°2Y ¥ 7271 7Y,

There still remains, however, a certain difficulty with this answer. The X713 shortly will
initially maintain that the dispute between 1"7 and X217 parallels the dispute between 29
X117 and X701 27 respectively. 1"1 who states that we accept the Xn7ax m7y agrees with 29
X117 that they o°wn2m M7y are still 2w> 27V in the future, while X237, who states that we
cannot accept the XnaR M7y agrees with X707 27 that the D°wnow 07y are 099109 D°TY
(Poon) in the future. The X723, however, retracts this assumption. It is possible that X239
can agree with X117 27 that these 0>7v are W2 in future cases — NINX NM7Y; it is only in the
very same case — M7V IMRY, that X327 maintains that they cannot be believed. This X
implies that originally we assumed that M7y 7mX and nInX M7V are equal (otherwise there
would be no comparison). If they are believed nanx m7y% (81177 27) they should also be
believed M7y TMRY (3am1 27); if they are not believed N7y AnXY (X27) they would not be
believed nanxk M7y% (X701 27). MoOIN poses his question:

SNoR 171921 - however since as of yet before the final X101 of the X123 -

Xn3 772 29wnT — that the X923 considers our case of Xn7°2%1 XniTax

nnR M7Ye — like an NNR NITY; that the two testimonies are not entwined, but
rather they are separate testimonies, as in the dispute between 71"7 and 1" which deals

" Even if 1wnw originally claimed *max 5w, he can still restate his claim to mean TMax» Wpw *Max v, (in
order not to contradict 0’7y s'121%" who say it belonged to s'121X7 parents). 1w»w will be believed on the
basis of the 13», and would be awarded property since he has a 7p1m.
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with NANR M7Y; and X237 cannot agree with 7" (even though it is an NINX M7Y) but must
follow the ruling of n1"1. Therefore, the answer of the X"27 -

=°sw nX X2 — will not appropriately resolve the difficulty; for if they are
separate testimonies (NIIR M7Y), then, since X271 maintains X721 187, the M7V of XNIAN is
separate from 1228 mM7Y, and should be accepted. [Or conversely:] The "2
distinguishes between the case of nrav1 712°13 which are two independent M”17y, and 777K
Xn7ax1 which are dependent on each other and considered as one. If this distinction is
inherent in understanding X279, then how could the X723 assume that M7Y MR and M7y
nanX are the same? We see that X217 distinguishes even M7y 7nX2 whether the two m"7y
are entangled or not. Certainly X217 will distinguish between N7y 7nIX and NINX M7Y.

Summary
X217 maintains 2091 X177 X279 1827 21 7v. If this is because X171 w170 227 T,

then by 7wnom it will be H001 ¥y1917. However if it is because of mmpH7 X7°09
then by nwna7 it will also be 2091 X279 1821, According to this latter view
X217 will agree to 1" that the Xn72aR »7v is valid (just as the 712°13 >7v are valid)
since it was not contradicted.

The X"21 distinguishes between 77211 7Y which is not entwined with 7¥
72w as opposed to RNIAR 7Y which is dependant on 719°0X *7v, and therefore
the entire testimony is 2109 even if we maintain the view of Mmp>7 X7°05.

Thinking it over

1. Every nnmi is automatically a 7wnon. If we assume the reason of 2m7r 7V
X7 w17°n, should not the 0m1 0>7¥ be podn MTY% 7100 from the time of their
testimony?

2. Mo0In cannot reconcile the X"2°7 with the 7"0 of the X771 that it is an M7y
nanX. Perhaps we can differentiate between the nanX nNI7¥ concerning the
np1Pnn of 1" 7" and the 2o 71 of the X"27. The np1?nn between 11" 73"
is whether or not these 0’7y are (now) considered to be liars. According to
1"1 that they are not liars, and are believed in other (future) testimony, then
the XN7AX M7V cannot be considered nwnom since the 07y are “w> and
XN7aX is an nAnR M7y than the 798 M7y (even if they are entwined). We
must conclude that X237 agrees with 11", that they are liars. Once we assume
that they are m7v% 709, we cannot separate the testimony of XnmaX from
T9°OR, since XNTAR requires 72°2X, making 79°2RY XNAAX into one 777X, and
this 777 is offered by (X2791 1831 "9v) 000 07w.%°

'8 This would be true (in the 7"0) even if we maintain Y091 X171 ¥791°, for there is no 105.
1% Even the 79°3% N7 is not considered ‘false’; we just cannot deal with it since it is contradicted.
20 See p7aR NoMA.
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